OEBTEDONE-EHETHER

mRF[(RA13]

sz Lk Btk LEER KEFXEEE AR XEEE

1 | ~BHh 1,060,000 | FEA™H 860,000 | FRET 725,000 | FEA™H 725,000 |WFs/NEFET 655,000
2 |WuAth 990,000 |LLAT 810,000 [LuOTh 712,000 |lLBTH 706,000 [3ETh 627,000
3 |Emm™ 970,000 |Em™ 790,000 |Em™ 690,000 |EIm™ 690,000 |=4rTh 546,000
4 |mE™ 965,000 |&E™ 785,000 |EE™ 685,000 |EE™ 680,000 | FRA™

5 |F&h 940,000 | F#2Th 760,000 |F&pTH 684,000 | Fiath 670,000 |F&fTH

6 | AT 935,000 |F&rTH 755,000 | F#amh 670,000 |WiZ/pErET (655,000 |LLiOTH

1 |BrfFTh 912,000 |Bh AT 745,000 |/ EFETR | 655,000 |B5 AT 650,000 |#kth

8 |WBS/MEFATE | 909,000 [LLBS/MEFEATH | 740,000 | FF 650,000 |F&RTH 641,000 |FRFTH

9 |t 870,000 |5 707,000 [stTh 627,000 |yt 627,000 | F#aTh

10 | 864,000 |#F T 685,000 |#kTH 620,000 |FkTh =E™H

11 |#Th 860,000 |#kh 680,000 |#NFh 615,000 |&Fi™ K™

12 | &M 790,000 |&Fi™ 630,000 |&FimH 560,000 |#F T B3

13 |45 780,000 |E4RTh 624,000 |E4TH 546,000 |=#FTh ™

®H25. 4. 1HEDKR

Iz m& Bl LER KESERETESE RbesEXEEE

1 | TR 932,800 | TR 774,000 | TR 652,500 | R8T 652,500 |t 595,650
2 A% 891,000 [ AT 729,000 |Bh AT 650,000 |Bh AT 650,000 |E4rTh 546,000
3 |BmmX 873,000 | FHard 722,000 [LLBA % 640,800 | FHATIX 636,500 [Wbs/MEFETH | 524,000
4 |EETX 868,500 |El X 711,000 | F#ATIX 636,500 | A% 635,400 | FE™

5 | FHaTh 841,500 |FARF 2% 707,000 |EIm 621,000 | Bl mmX 621,000 |F&kTH

6 [FkiX 820,000 [:&ETX 706,500 |:& B 616,500 |EEMX 612,000 [LuA™

T |BrRFTi 820,000 |F&Rm% 675,750 |FERTIX 612,000 | 595,650 |#kmh

8 |FaBTH X 792,000 |yeh% 671,650 |Fkhi % 600,000 |F&R % 573,750 |FaRFTH

9 |=FI™ 790,000 |FkHi X 650,000 |3 595,650 WS/ EFETH [ 524,000 | FHath

10 |H0 T 783,000 |&F™H 630,000 [&Fim™ 560,000 |#kh aE™

11 |45 780,000 |44 624,000 | FH T 553,500 |&Mmh KM

12 | 777,600 |#NFH % 616,500 |E4Th 546,000 [Hn3HH WFHH

13 |WEs/NEFATX| 727,200 |WLbE/MEFET (592,000 |LLBE/NEFETT (524,000 [E45H Rm™
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